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< A T B[ 5 B e k| PR e
e n | T | Rwm | Rk B EER gy | goc [ | (B FHE 3o | &
C C C % 105k m/s m/s 167 mm S| =]
(195;11%{2@010) 15.8 20.7 119 66 6.4 2.9 - dedevs 1,535.3  2,091.6

Rk 274F 16.6 384 A20 67 6.6 3.0 14.3 MW 1,803.0 2,100.3 4
284F 17.0 37.8 A48 65 6.6 3.0 12.6 Jtvs 1,686.0  2,168.2 7
294 15.9 355 A36 64 6.3 3.0 16.5 MM*  1,701.5 2,221.0 7
304F 16.9 40.3 A 39 62 64 3.1 20.4 FFEHE  1,695.5 2,330.6 6
314 17.0 38.0 A21 64 6.7 3.1 13.9 dJkvs 1,555.5  2,208.7 3
RS 1H 5.1 13.5 A 2.1 54 4.8 3.2 10.4 Jbvs 14.5 190.5 0
2H 1.2 180 A 0.5 51 6.0 3.3 10.3  dkva 56.5 161.1 0
3H 10.1 21.7 1.4 53 6.4 3.4 11.9 wadevs 80.0 196.1 2
4 H 14.1 28.4 2.1 54 6.3 3.6 13.9 Ak 117.5 219.1 0
SFITHE 5H 20.4 33.9 8.5 50 6.9 3.3 11.3 FmH 146.0 267.7 0
6 23.1 32.3 16.4 70 8.1 2.9 10.9 vEdkmE 172.0 178.5 0
“H 25.9 36.8 19.8 81 9.1 2.6 10.0 FIFHE 283.5 102.1 0
8 H 28.9 38.0 21.8 73 7.2 3.1 13.2 MW 204.0 220.2 1
9H 26.7 36.6 177 69 7.3 2.8 10.6 FEFE R 39.0 177.2 0
104 20.3 31.4 12.0 74 7.4 2.9 10.3 vE4k7E 356.5 147.0 0
11H 13.4 23.1 3.2 64 4.6 2.9 10.9 dedevs 18.0 205.1 0
12H 8.8 17.8 1.2 69 6.6 2.8 12.5 Ak 68.0 144.1 0

Ghh AR RS 5 () 1 {Jﬁiiﬂggﬂli ol BT R G s (B R TR B AET T H 187%) TEL

2 TREE VL, FH R,

3 EREITERZEIZHTDANS EOEEG T, £REITE DN E%10, ED
7RVRIEZ 0L T D,

4 A B ESEO H BEE) T, T A S E D4R R Y,

5 JEIE D e KIZ 1043 FE 24 R 005 6 O e KAE G B 1XE DR JaL ],

6 HREMELIT, FEE NI LA RHANE BT L EAa v,

7 H (E) & (RlR) IRV, A M EER) OMRE,

8 fEIE. HEE T, MAHEZRD LR LERDERIO—E A KT TNDN, TR
T BRI T3,



